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Ordering Paper




           Period _______Date ____________

Suppose we need to order paper for fall semester next year.  We have a choice of green or yellow paper.  Mr. Slater wants 10 reams of green and 3 reams of yellow.  Ms. Chase wants 5 reams of green and 8 reams of yellow.  

1.)  Using some logical method, write a matrix P to represent this paper order.  
2.)  Using matrix P, what expression would be used to represent the total order for next

      year, assuming the needs were the same for both semesters?
3.)  If green paper costs $3 per ream and yellow paper costs $3.50 per ream, create a 
      matrix C to represent the paper cost.

4.)  Using the above matrices. what expression would be used to find the total cost of the
      paper per teacher?  Explain why this works.
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Solve the following system of equations for x  and y :          3x + 5y = 9 










      x + 4y = 11

Now find at the determinant of the matrix made by the coefficients of the two equations.  Do you see that number anywhere in the system you solved above?

See if you can find where the other numbers come from…

To find the determinant of larger matrices, we must expand by minors.   For example:  

If  A = 
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  = 
   2(20) ( 4((11) + 0((10) + 15  =  99 , 
- or we could expand along the  4th row to get: 
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  = (1((43) ( 2((28)  =  99.
Why might we want to change the row (or column) that we expand along?

Try finding the determinant of each of these by hand.  Use your calculator to check your work on problems 3 - 8.  (#8 is a challenge problem, but you can figure it out.)  
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we could expand along the first row, remembering the


checkerboard pattern of adding and subtracting, to get: 








Did we really need to evaluate the third matrix’s determinant?
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